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It is not desirable for him because of the trip’s potential for accident

Overview

2Py " said over in the name of 7371 ' that there are two respective reasons why '
777 maintains that by 2wyn n2aw [and X " maintains this by w7pn naaw] that she
1s not NWTPN; one 1s because she is not pleased and the other reason is because both
are not pleased (but he does not remember which reason apples to which case). "
2py° then considered that by “wyn both are not pleased that she should be nwTipn
with "1w 2wyn;! he is not pleased because of his responsibility if the qwvn is destroyed
on the way to 0°2¥17° (and she is not pleased because of the bother of taking the qwyn
to 2°9w1). Our MooIn clarifies what is meant by X7IRT ROIX.

= 3N 1197 NPYY NNIINT ROIN TN DY 20901pa W9
>'"w9 explained that perforce the responsibility for any accident that may befall

the w"vn on the way to 09w lies exclusively on the man (if he desires to be wpn her
[with the w"yn]) -

- 5059WI9 NYN INIEINY 19193 RYY N1 MY 93 INI PR IUINHY
For here (outside 021, where he is w7pn her) there is no 7w9s MW of "wy», for

the w"v» cannot be spent anywhere except in 255217 -
-7A0Y99 MY DMWY 115Y 19359 PYITPY INYITHA 1PDIN) 17 939919 1999NY

For even if s/he would sell it here the money would be ‘grabbed’ by the 7217p of
w"vn (which again has no value outside 2°9w17°) and there is a requirement that
1PRN7P must be worth a 711195 (and right now she does not have a 5"w) -

!'s3w qwyn (which is the 7wyn separated on the first, second, fourth and fifth years of nuonw, after 1w 2wy [which is
given to the "17] was separated), must be eaten only in 2°2w17°.

2 own a"1a.

3 If the w"vn with which he was w7pn the woman was destroyed before it came to 0°>w17, the man will have to give
her w7 anew; she will not be nwmpn with the w"vn he gave her, since at the time of giving her (before it came to
°%w17), the w"yn was worthless (as mpon/"wA continues to explain). [However it does not mean that if the w"v» is
lost it needs to be replaced; there is no such rule.]

4In >"wn it reads 182 12 PX (instead of 12 1XD 7°X).

5 See X"wnmn (citing o°aw> nvoIN) that we must be discussing a case where the w"vn is not worth (much) more than a
p"w. If it were worth [much] more than a 5", she will definitely be able to receive a 7v17d for it from anyone who is
willing to take this [unredeemed] w"v» (which is worth [much] more than a 5"w) to 2°2w17° and keep it for himself.

6 In >"w" it reads 1520 (instead of 11191°); he gave it to her. She has the right to sell (or redeem) it.

7 As long as the w"vyn did not enter 2517 it has no value, for it cannot be used for anything. She is only nwTPn once
the w"yn (or the redemption money) enters into 2°9W1.
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Therefore if this w7>n would have initially known that he is being w7pn her with

w'"'yn, so since he is required to accept the responsibility for NF9INT RO -
= IN92M 29V RNNON 22 YDNNIND NYIWT N2 NY WIPN MN XY

He would not have been wp» her with the w"yn (outside 2°517°), since a woman

is more prone to having an accident and losing the w"¥», more than a man. This
concludes *"w"».

nDOIN comments:
= 10955W1953 11OY 1Y 1O PUITIPN IDINY XOY I1WITD TINN YHWUN

It appears from s*"2" explanation that if he is w7p» her knowingly with *1w wyn
the P73 will not be effective until the w"v» will be in 2%2me.

n1voIN asks:
= NN 902 NN NTAPAY TYYN 29D (3,0 97 115999924 7997 VP

And there is a difficulty (with *"w19), for the X713 asks in n1"122 noon, ‘but there
is 1w “ww» where the 7710 was particular that it should be redeemed only with

minted silver coins’ -
- 12\’)‘1";7 292 DTN 229 MNP NN I VIV 9002 m1aYy TN ININ NIV WHYH29

The explanation of 77X 71032 770 77527 is that when one redeems ¥'"v» it needs
to be redeemed with silver which has a picture (minted), ‘and nevertheless "9

maintains that if he was w7p» a woman with 7913 w"vn, the 21799 is valid’. This

concludes the citation from the X713 there. n1doIN asks -
= D992 AUYNN NPNOY TY 199X 9N RY 1IN N 7299 N1

8 The wpn has w"yn and 721; he can be wipn her with either one. If he is w7pn her with P2, she is nwnpn
immediately; however the man has the bother of bringing his w"¥n to 2°2w1. On the other hand if he is w7pn her with
w"vn, he is relieved of the bother to bring it to 2°9w1, however if the w"yn is destroyed he will have to be w7pn her
again, since the initial 1217°p is not yet effective until the w"vn reaches o22w1.

° In either case (whether he is w7pn her with 15111 [and he brings the w"yn to 2°2w17] or whether he is w7pn her with
w"vn [where she brings the w"yn to 2°2w1]) there is the concern of RMMRT XO1X; however there is less concern of
XMIINT XO1X when a man is bringing the w"v» to 22w, than when a woman (who is not as strong and/or capable)
brings it to 22w, therefore if he knows it is w"¥n, he will rather be wipn her with 192117 than with w"vn, therefore the
PYITRP with Jwa w"va is My SWp.

10 The reason there is RI1IXT XONX is because she is not NWTP» until the w"vn is in 2w if the PWITPR is o0
immediately then what is the concern of Rr7IXT RO1IX, she is already nw17pna. See “Thinking it over’.

13737 1 there maintains that a 2vn 7w (before it was redeemed with a sheep) is X372 MOR. The X713 explains the
logic behind °"1 that there cannot be something for which the 7710 requires a specific item to redeem it (like the 7w by
n Mvd), that the item to be redeemed (the 7van qvd) should be nXk172 7N before it is redeemed.,

12 9"y must be redeemed with something specific (777X 703), and nevertheless >" maintains that if he was wpn a
woman with v"vn (before it was redeemed) she is nwTpn, indicating that it is X372 AN (even though there is the
requirement that it be redeemed with a specific item).

2
TosfosInEnglish.com



1R "7 "0 2,31 PR L7102

But what is the X713 asking, for did not >''1 rule (according to *"w) that the w17

does not become effective until the >3 =wy» will be in %@ -
= Y9 NMIND TYN 792 qUIN NN @41 oraam 39NIT 137918 902 NN NTAPN KDY DIIVIPN)

And regarding w"v» in 2°%w17°, the 7710 was not 795p% that it require 771X n©3, as
is written, ‘and you shall spend the money for anything which your heart

desires’ so according to >"wA there is no question on > -
= 169WPnn NX VAP ON 1599992)3 199X NYTIPN NI YNIVY NON

So rather we derive from this that she is n@Tp» even in the ‘boundaries’
(outside o°2un7) if she received the 1°21232 wyn.

mooIn offers the alternate interpretation:!’
- 181553 HPI MPINN PNT AN 33 N YT 33Y DIVNPN WIPA3 55 NN 19Y

Therefore it appears to Moo like the second interpretation of >''w9, where he

explained that even if the responsibility for the w"v» does not rest on the wipn,

nevertheless -
- 1959 Yy KOY 9293 INVTP 19 UMY 199Y IMIYIN NY HNNT 1YY NN RY

The w7pn is not pleased that she should have complaints against him, saying,
‘you were w7p» me with something which was not helpful for me’.

mooin asks:
= 20559253 999N PNINNT XIN YIYNT NWP 1NN

However there is a difficulty; for it seems here that our 71w% is discussing a case
where he was w7pn her in the ‘boundaries’ (outside 2°5w1) -

13 Regarding w"v»n which is in 2°%w17° there is no rule of a specific item in order to redeem it, for if the w"vn itself is
brought to 0°2w1, it cannot be redeemed (it must be eaten as is), and if it was w"yn nwn (the money with which the
w"yn was redeemed) the rule is that it can be spent on anything edible, as the 105 states. See w"w".

4y Moo xR o .

15 Therefore the question on > is understood, since 171232 there is a requirement to redeem w"y» with 771X 703 only,
and nevertheless the w"yn (before redemption) is X372 7N for he can be wpn a woman with it.

16 mpoIn concludes that she is nwTiPn immediately as soon as she receives the w"va (outside a°7w17°). Mpon does not
explain why it is considered a 5" even though she cannot use it outside 2°9u1. Seemingly we can say that according
to mMaoIn we are discussing a case where the w"v» is worth [much] more than a 5" (see footnote # 5), so it is certainly
worth a 5" for this woman.

17 The question remains however if she is nNwTPn immediately what is meant by X987 X0nR (see footnote # 10).
(*"w"7) nvon addresses this now.

18 This means she is NwTPn to him (immediately) even if the w"v» is lost eventually.

19 The meaning of X7IXT RO is not that the wTpn is liable, but merely he is concerned if there will be an 01X, the
woman will have a complaint against him (but not that she is not nwmpn or that he will be responsible). The woman
will be nwTpn as soon as he gave her the w"yn, but she will retain this nmyan.

20 p7123 is the term used to indicate outside 22w, The X3 mentions XAMRT XX indicating that he was wTpn her
outside 2*>w1, where there is need to travel to 2°>w17° and be concerned for RIIIRT XOIIN.
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And nevertheless >''7 maintains that if he was aware that he is being wpn her

with w"vn it 1s a valid 1@, indicating the *1v 9wy» is a commoner’s money (it

does not belong to wpn) -
- 27949775 5395 1Y DI WIMIN GO0 1Y 53Y WY NN NPT (3,1 91 1DPY ¥HIUN 19

And similarly it also seems so later where the X723 cites a mwn which states, ‘one
who redeems his own @'"'v» must add a fifth’ and the X7n3 establishes that miwn

according to """ -
= %Y AUYN 12 PN PPN DIDWINA INT 9N 1PD12)a THI3 DY NINN)

And that 73w is perforce discussing 1991232 2"y, for we are not @'"y» 7710 in

29993, and nevertheless °" maintains that he adds a fifth even if he received it as a gift>’ -
= 1999252 1929R NN 2299 NIN VTN NN Y TUYNT ¥NIYN NNHN

It evidently appears from both N1 that w"y» according to 59 is W17 18R

even P72 -
= 152) 1127 2199 XY N1IYY 1912 PDIAIAT ONN YIYUNT (3,39 91 pathio) PIN P90 YD

And there is a difficulty (with this assumption that w"v» is 077 1171 even 121232
[according to °"1]) from P%n P75 where it seems there that 1232 all agree that

W"Yn is M2 1R; we know this from the 7awn cited there -
= 192901 0950 NINN 11 VI INM 239 %Y TYYN NDOY 1)

Regarding a dough made from w'v», where »'9 exempts this dough from the

requirement of separating m»n from it, while the @°»2m obligate this dough in 79r -
= 0OV Y HVUYNIA NPITNN RTON 29 99N

And X701 21 stated; this dispute between 20m 1" is regarding 2%5w9a @'y -
= 9909 Y51 927 Y122 HAN NI VTN 1IN 92D 129 24XIN N12) PN 92D NN a7

For »''% maintains that even in 2°%w17 it is 723 1% and the 33127 maintain that

it is ©19777 732n, however 7912332 all agree that the 70°Y is exempt from 777; presumably
because it is 71123 711,25 how come we found in the two above-mentioned N1 that w"y» according

2L If w"yn was (W7p) Max an he cannot be wpn her with wipa, for it does not belong to him.

22 The mwn there states that he has to add the wmn whether the w"vn was his initially or whether he received it
(assumedly the w"yn) as a gift. The X713 there says that this cannot follow the view of »"1 who maintains ¥"v» is 1711
ma3, so there can be no gift of w"vi. The recipient (of this supposed gift of w"¥n) does not own it, and the law of
adding a fifth (when redeeming w"yn) is limited to when the w"¥» belongs to the 7719, but according to »"2 he does
not own it since W"ym is M2 71 and cannot be gifted away. Therefore the 71wn follows the view of *"1 that it is 77n
vPIa.

23 This indicates that it is ¥1°777 17n and therefore the gift he received is valid; he now owns the w"vn.

24 Regarding 77n the 7N writes (in 3,30 [77w] 72713) that 7170 770 22°M0* W MWK, it must be 23°m0*w (your dough),
but not the dough of wps.

25 In 9w where "y may be eaten, the o°»5n maintain that it is ¥177 177, however 191232, where one is forbidden
to eat w"yn, even the 0°non (presumably) agree that it is 7123 1A,
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to "1 is VYT N even TPRI2?!

NID0IN answers:
= 19912)2 199N NN VTN NN NN 2297 2) HY GNT 91217 YW

And one can say that even though ©"v» according to >''9 is w77 1272 even 791232 -
$DIOND 260Y NMNI PRI DN NTNA 2NNNT NN NDY INTT RTON 29 9INRP DIPN Yan

Nevertheless 1''2 maintains that it is not considered an 719° to be obligated for

the separation of s1om, since it is not fit to be eaten there in 1°123 (but not because it is
M3 mn [as we (mistakenly] assumed]).

Summary
According to (the first) >"wno, the P TP by w"vn are effective only in 2%w1™,

however according to n»oIN (and the second *"w19), it takes effect immediately.
W"Yn is V1T AN even P12 (according to °"'7) and nevertheless it is 7177 70D since
it cannot be eaten P21232.

Thinking it over

MooIN derives that just as we see by AW she 1s not nwTpn with the w"vn outside
W1, because it is worthless, so too 7°122 she will not be nwmpn outside 27w
(only in 2°7w17).2” However it is possible to say that granted 32w32 she is not nwTIPR
outside 27w’ because now it is worthless, however if he knew it was w"v» and
accepted upon himself Xr7x7 XonX (he guaranteed her the full value of the w"yn),
perhaps she is 121232 nwTpn, since she is assured of (much more than) a 5" w?!2®

26 It cannot be called ‘your dough’ (even though it belongs to you), since one cannot eat it there 71232
%7 See footnote # 10. Based on this assumption Mma0n asks a question on *"w1o.
28 See X"wmn.
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